

Department of Public Works

Engineering Division

Robert F. Phillips, P.E., City Engineer

City-County Building, Room 115 210 Martin Luther King, Jr. Boulevard Madison, Wisconsin 53703 Phone: (608) 266-4751 Fax: (608) 264-9275 engineering@cityofmadison.com www.cityofmadison.com/engineering

Assistant City Engineer Michael R. Dailey, P.E.

Principal Engineer 2

Gregory T. Fries, P.E. Christopher J. Petykowski, P.E.

Principal Engineer 1

Christina M. Bachmann, P.E. Eric L. Dundee, P.E. John S. Fahmey, P.E.

Facilities & Sustainability

Jeanne E. Hofman, Manager

Operations Manager Kathleen M. Cryan

Mapping Section Manager

Eric T. Pederson, P.S.

Financial Manager

Steven B. Danner-Rivers

To:

Date:

Mr. Dave Schmiedicke, Finance Director

Public Works Contract:

Pleasant View and Blackhawk Rd Intersection Improvement

Contract Number:

7670

April 14, 2017

Contractor.

S & L Underground and Trucking, Inc.

Substantial Date:

9/2/2016

This notice is to inform you that the improvements on the abovementioned public works contract were completed and are hereby accepted.

Original Contract Sum (Based on Actual Units)

\$162,252,75 \$132,702.06

Net Change by Change Orders

\$0.00 or 0.00%

Liquidated Damages

\$0.00

Final Contract Amount

\$132,702.06

Please refer to the attached Final Payment Application for Final Account Breakdown. Please consider this contract closed and reverse all unused encumbrances.

If there are any questions with the above information please call me at 266-9091, or Alane Boutelle at 267-1197.

Since fly S. Fly

John S. Fahrney, P. E.

Construction Engineer

JDF

cc:

Steve Danner-Rivers, Engineering Div. Norman Davis, Civil Rights

APPLICATION AND CERTIFICATE FOR PAYMENT CITY OF MADISON ENGINEERING DIVISION

Project Manager:	LEANNE HANNAN	Page 1 of	4
Project: PLEASAN	T VIEW AND BLACKHAWK INTERSECTI	ON IMPROVEMENTS - 2016	
Contract Number:	7670	Payment Number:	FINAL #7
DO NOT WRITE	IN THIS BOX - TO BE COMPLETE	D BY CITY ENGINEERING PERSONNEL OF	VLY
TOTAL FROM PAGE:	4	132,702.06	
LESS RETAINAGE:		0.00	
SUBTOTAL:		132,702.06	
LESS PREVIOUS PAY	MENTS:	128,645.74	
CURRENT PAYMENT	DUE:	4,056.32	
CONTRA INSPECTOR'S CERTIF The unde	CTOR: S & L UNDERGROUND AND SIGNED TO STATE FOR PAYMENT: resigned Inspector certifies that to the be	TRUCKING, INC. DATE st of his/her knowledge, the work covered in accordance with the contract docu	8-16 ed
and that the	ne contractor is entitled to payment for t	ed in accordance with the contract docu- ne amount certified.	ments,
INSPECT	OR OR	12/24 DATE	16
PLEASE PROVIDE THE 1	IME PERIOD FOR THIS PAYMENT REQ		16
PLEASE PROVIDE THE (CONTRACTOR/SUBCONTRACTORS THA	TO: /2-2 T WORKED ON PROJECT DURING THIS	PERIOD:
NOTE: SIGNED PA	AYMENT REQUEST SHALL BE SUBMITTE	D TO THE ENGINEER/INSPECTOR	

PARTIAL PAYMENTS CAN BE PROCESSED EVERY TWO WEEKS.

STREET ACCT 11301-402-170 STORM STREET ACCT 11301-402-174 TRAFFIC SIGNAL ACCT 11301-402-176

CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

S & L UNDERGROUND AND TRUCKING, INC.

PLEASANT VIEW AND BLACKHAWK INTERSECTION IMPROVEMENTS - 2016

	NT VIEW AND BLACKHAWK INTERSECT ACT NO. 7670	ION IMPROVE	MEN IS - 201	t							*****		
	AYMENT NO. 7	1	2	3	4	5	6	7	8	9	#10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
STREET	ACCOUNT NO. 11301-402-170												
10701	TRAFFIC CONTROL	1.00	LUMP SUM	\$6,000.00	\$6,000.00		0.00	\$0.00	1.00	\$6,000.00	1.00	\$6,000.00	100.0%
10721	TRAFFIC CONTROL SIGN-PORTABLE CHANGEABLE MESSAGE	28.00	DAYS	\$75.00	\$2,100.00		0.00	\$0.00	14.00	\$1,050.00	14.00	\$1,050.00	50.0%
10911	MOBILIZATION	1.00	LS	\$22,000.00	\$22,000.00		0.00	\$0.00	1.00	\$22,000.00	1.00	\$22,000.00	100.0%
20101	EXCAVATION CUT	1,017.00	CY	\$12.00	\$12,204.00		0.00	\$0.00	570.13	\$6,841.56	570.13	\$6,841.56	56.1%
20202	SELECT FILL	33.00	C,Y.	\$26.00	\$858.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
20219	BREAKER RUN	964.00	TON	\$11.50	\$11,086.00		0.00	\$0.00	273.97	\$3,150.66	273.97	\$3,150.66	28.4%
20231	TOPSOIL	766.00	SY	\$3.00	\$2,298.00		0.00	\$0.00	912.50	\$2,737.50	912.50	\$2,737.50	119.1%
20322	REMOVE CURB & GUTTER	80.00	LF	\$4.00	\$320.00		0.00	\$0.00	98.80	\$395.20	98.80	\$395.20	123.5%
20333	REMOVE SIDEWALK	430.00	SF	\$3.00	\$1,290.00		0.00	\$0.00	375.00	\$1,125.00	375.00	\$1,125.00	87.2%
20234	GEOTEXTILE FABRIC, TYPE SAS (WOVEN)-UNDISTRIBUTED	1,445.00	SY	\$2.00	\$2,890.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
20303	SAWCUT BITUMINOUS PAVEMENT FULL DEPTH	741.00	LF	\$1.50	\$1,111.50		0.00	\$0.00	831.00	\$1,246.50	831.00	\$1,246.50	112.1%
20402	CLEARING	1.00	STA	\$1,675.00	\$1,675.00		0.00	\$0.00	1.00	\$1,675.00	1.00	\$1,675.00	100.0%
20407	GRUBBING	1.00	STA	\$1,675.00	\$1,675.00		0.00	\$0.00	1.00	\$1,675.00	1.00	\$1,675.00	100.0%
20501	ADJUST SEWER ACCESS STRUCTURE (SANITARY AND STORM)	2.00	EACH	\$280.00	\$560.00		0.00	\$0.00	1.00	\$280.00	1.00	\$280.00	50.0%
20701	TERRACE SEEDING	766.00	SY	\$3.50	\$2,681.00		0.00	\$0.00	912.50	\$3,193.75	912.50	\$3,193.75	119.1%
21061	EROSION MATTING, CLASS 1 URBAN TYPE a	766.00	SY	\$1.50	\$1,149.00		0.00	\$0.00	912.50	\$1,368.75	912.50	\$1,368.75	119.1%
30201	TYPE 'A' CONCRETE CURB & GUTTER	166.00	LF	\$30.00	\$4,980.00		0.00	\$0.00	190.80	\$5,724.00	190.80	\$5,724.00	114.9%
30301	5" SIDEWALK	658.00	SF	\$6.50	\$4,277.00		0.00	\$0.00	687.90	\$4,471.35	687.90	\$4,471.35	104.5%
30302	7" SIDEWALK	359.00	SF	\$8.00	\$2,872.00		0.00	\$0.00	227.10	\$1,816.80	227.10	\$1,816.80	63.3%
30330	PROFILE SAWCUT	10.00	LF	\$45.00	\$450.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%

CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

S & L UNDERGROUND AND TRUCKING, INC.

	ACT NO. 7670 AYMENT NO. 7	1	2	3	4	5	6	7	8	9	******** #10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLET
30340	DEECTABLE WARNING FIELDS	40.00	SF	\$42.00	\$1,680.00		0.00	\$0.00	32.00	\$1,344.00	32.00	\$1,344.00	80.09
40101	CRUSHED AGGREGATE BASE COURSE, GRADATION NO. 1	517.00	TON	\$14.00	\$7,238.00		0.00	\$0.00	254.28	\$3,559.92	254.28	\$3,559.92	49.29
40102	CRUSHED AGGREGATE BASE COURSE, GRADATION NO.2	839.00	TON	\$14.00	\$11,746.00		0.00	\$0.00	779.33	\$10,910.62	779.33	\$10,910.62	92.99
40203	HMA PAVT TYPE E-3	455.00	TON	\$63.00	\$28,665.00		0.00	\$0.00	389.00	\$24,507.00	389.00	\$24,507.00	85.59
40211	TACK COAT	145.00	GAL	\$2.05	\$297.25		0.00	\$0.00	50.00	\$102.50	50.00	\$102.50	34.5%
60800	PAVEMENT MARKING EPOXY, LINE, 4-INCH	600.00	LF	\$0.80	\$480.00		0.00	\$0.00	1,666.00	\$1,332.80	1,666.00	\$1,332.80	277.7%
60801	PAVEMENT MARKING EPOXY, DOUBLE LINE, 4-INCH	980.00	LF	\$1.60	\$1,568.00		0.00	\$0.00	1,278.00	\$2,044.80	1,278.00	\$2,044.80	130.4%
60802	PAVEMENT MARKING EPOXY, LINE, 6-INCH	680.00	LF	\$1.00	\$680.00		0.00	\$0.00	1,333.00	\$1,333.00	1,333.00	\$1,333.00	196.0%
60803	PAVEMENT MARKING EPOXY, LINE, 8-INCH	750.00	LF	\$1.10	\$825.00		0.00	\$0.00	715.00	\$786.50	715.00	\$786.50	95.3%
60812	PAVEMENT MARKING EPOXY, CROSSWALK, 6-INCH	230.00	LF	\$6.00	\$1,380.00		0.00	\$0.00	209.00	\$1,254.00	209.00	\$1,254.00	90.99
60818	PAVEMENT MARKING EPOXY, STOP LINE, 24-INCH	110.00	LF	\$7.00	\$770.00		0.00	\$0.00	110.00	\$770.00	110.00	\$770.00	100.09
60823	PAVEMENT MARKING EPOXY, SYMBOL, BIKE LANE	2.00	EACH	\$168.00	\$336.00		0.00	\$0.00	2.00	\$336.00	2.00	\$336.00	100.0%
60829	PAVEMENT MARKING EPOXY, SYMBOL, LEFT ARROW	4.00	EACH	\$148.00	\$592.00		0.00	\$0.00	5.00	\$740.00	5.00	\$740.00	125.0%
60834	PAVEMENT MARKING EPOXY, WORD, ONLY	5.00	EACH	\$168.00	\$840.00		0.00	\$0.00	5.00	\$840.00	5.00	\$840.00	100.0%
60881	PAVEMENT MARKING REMOVAL, 6-INCH	850.00	LF	\$0.80	\$680.00		0.00	\$0.00	291.00	\$232.80	291.00	\$232.80	34.2%
60882	PAVEMENT MARKING REMOVAL, 8-INCH	130.00	LF	\$1.60	\$208.00		0.00	\$0.00	229.00	\$366.40	229.00	\$366.40	176.2%
60886	PAVEMENT MARKING REMOVAL, 4" DOUBLE LINE	300.00	LF	\$2.40	\$720.00		0.00	\$0.00	596.00	\$1,430.40	596.00	\$1,430.40	198.7%
60887	PAVEMENT MARKING REMOVAL, SYMBOL, ARROW	1.00	EACH	\$100.00	\$100.00		0.00	\$0.00	2.00	\$200.00	2.00	\$200.00	200.0%
60889	PAVEMENT MARKING REMOVAL, SYMBOL, BIKE LANE	1.00	EACH	\$140.00	\$140.00		0.00	\$0.00	1.00	\$140.00	1.00	\$140.00	100.0%
	SUBTOTALS				\$141,421.75			\$0.00		\$116,981.81		\$116,981.81	82.7%
STORM	STREET ACCOUNT NO. 11301-402-174												
21002	EROSION CONTROL INSPECTION	- 1.00	EACH	\$400.00	\$400.00		0.00	\$0.00	1.00	\$400.00	1.00	\$400.00	100.0%

CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

S & L UNDERGROUND AND TRUCKING, INC.
PLEASANT VIEW AND BLACKHAWK INTERSECTION IMPROVEMENTS - 2016
CONTRACT NO. 7670

CONTRA	INT VIEW AND BLACKHAWK INTERSECT ACT NO. 7670 AYMENT NO. 7	1	2	3	4	5	6	7	8	9	******* #10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
21013	STREET SWEEPING	1.00	LUMP SUM	\$1,200.00	\$1,200.00		0.00	\$0.00	1.00	\$1,200.00	1.00	\$1,200.00	100.0%
21018	SILT SOCK (8 INCH) - PROVIDE, INSTALL & MAINTAIN	650.00	L.F.	\$4.00	\$2,600.00		0.00	\$0.00	685.00	\$2,740.00	685.00	\$2,740.00	105.4%
21019	SILT SOCK (8 INCH) - REMOVE & RESTORE	650.00	L.F.	\$1.00	\$650.00		0.00	\$0.00	685.00	\$685.00	685.00	\$685.00	105.4%
21056	INLET PROTECTION TYPE D HYBRID - PROVIDE & INSTALL	5.00	EACH	\$125.00	\$625.00		0.00	\$0.00	3.00	\$375.00	3.00	\$375.00	60.0%
21057	INLET PROTECTION TYPE D HYBRID - MAINTAIN	8.00	EACH	\$40.00	\$320.00		0.00	\$0.00	1.00	\$40.00	1.00	\$40.00	12.5%
21058	INLET PROTECTION TYPE D HYBRID - REMOVE	5.00	EACH	\$40.00	\$200.00		0.00	\$0.00	3.00	\$120.00	3.00	\$120.00	60.0%
20503	ADJUST INLET	1.00	EACH	\$280.00	\$280.00		0.00	\$0.00	1.00	\$280.00	1.00	\$280.00	100.0%
50761	SADDLED INLET TYPE I	1.00	EACH	\$3,720.00	\$3,720.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
	SUBTOTALS				\$9,995.00			\$0.00		\$5,840.00		\$5,840.00	58.4%
TRAFFIC	C SIGNAL ACCOUNT NO. 11301-402-176	_											
60222	FURNISH & INSTALL 3 INCH PVC (SCHEDULE 80) CONDUIT	102.00	LF	\$3.75	\$382.50		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60224	FURNISH & INSTALL 3 INCH PVC (SCHEDULE 40) CONDUIT	216.00	LF	\$3.25	\$702.00		0.00	\$0.00	247.00	\$802.75	247.00	\$802.75	114.4%
60261	ELECTRICAL TRENCH	231.00	LF	\$6.50	\$1,501.50		0.00	\$0.00	185.00	\$1,202.50	185.00	\$1,202.50	80.1%
60407	CONSTRUCT LB-8 BASE	5.00	EACH	\$875.00	\$4,375.00		0.00	\$0.00	5.00	\$4,375.00	5.00	\$4,375.00	100.0%
60413	CONSTRUCT TYPE "P" BASE	1.00	EACH	\$1,200.00	\$1,200.00		0.00	\$0.00	1.00	\$1,200.00	1.00	\$1,200.00	100.0%
60421	REMOVE STREET LIGHT BASE	1.00	EACH	\$375.00	\$375.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60702	CONSTRUCT ELECTRICAL HANDHOLE TYPE 1	2.00	EACH	\$1,150.00	\$2,300.00		0.00	\$0.00	2.00	\$2,300.00	2.00	\$2,300.00	100.0%
	SUBTOTALS				\$10,836.00		•	\$0.00		\$9,880.25	, '	\$9,880.25	91.2%
						_			_				_
CONTRA	ACT TOTALS				\$162,252.75			\$0.00		\$132,702.06		\$132,702.06	81.8%